

## Integral calculus

Alok kr  
03/07/2020Some important (but difficult) problems

$$\underline{1.} \quad I = \int \sqrt{x^2+1} \left[ \frac{\log(x^2+1) - 2 \log x}{x^4} \right] dx$$

$$\Rightarrow I = \int \frac{\sqrt{x^2+1}}{x^4} \cdot \log \frac{x^2+1}{x^2} dx$$

$$= \int \frac{1}{x^3} \cdot \sqrt{\frac{x^2+1}{x^2}} \cdot \log \left( 1 + \frac{1}{x^2} \right) dx$$

$$\Rightarrow I = \int \frac{1}{x^3} \cdot \sqrt{1 + \frac{1}{x^2}} \log \left( 1 + \frac{1}{x^2} \right) dx$$

$$\text{Put } 1 + \frac{1}{x^2} = t^2$$

$$\Rightarrow -\frac{2}{x^3} dx = t dt$$

$$\Rightarrow \frac{dx}{x^3} = -t dt$$

$$\Rightarrow I = \int \sqrt{t^2} \log(t^2) \cdot (-) t dt$$

$$= -2 \int t^2 \log t dt$$

$$\Rightarrow I = -2 \left[ \log t \cdot \int t^2 dt - \int \left[ \frac{d}{dt} (\log t) \right] \int t^2 dt \right] dt$$

$$= -2 \left[ \frac{t^3}{3} \log t - \int \frac{1}{t} \cdot \frac{t^3}{3} dt \right]$$

$$\Rightarrow I = -2 \left[ \frac{t^3}{3} \log t - \frac{t^3}{9} \right] + k$$

$$\Rightarrow I = -\frac{2}{3} t^3 \log t + \frac{2}{9} t^3 + k$$

$$\Rightarrow I = -\frac{2}{3} \left(1 + \frac{1}{x^2}\right)^{3/2} \log \left(1 + \frac{1}{x^2}\right) + \frac{2}{9} \left(1 + \frac{1}{x^2}\right)^{3/2} + k$$

2.

$$I = \int \cos(\log x) dx$$

$$\Rightarrow I = \int x \cdot \frac{\cos(\log x)}{x} dx \quad \left. \begin{array}{l} \text{put } \log x = t \\ \Rightarrow \frac{dx}{x} = dt \\ \text{and } x = e^t \end{array} \right\}$$

$$= \int e^t \cos t dt$$

$$= \cos t \int e^t dt - \int \left[ \frac{d}{dx}(\cos t) \int e^t dt \right] dt$$

$$= e^t \cos t + \int e^t \sin t dt$$

$$= e^t \cos t + \sin t \int e^t dt - \int \left[ \frac{d}{dt}(\sin t) \int e^t dt \right] dt$$

$$= e^t \cos t + \sin t e^t - \int e^t \cos t dt$$

$$\Rightarrow I = e^t (\cos t + \sin t) - I$$

$$\Rightarrow 2I = e^t (\cos t + \sin t) + k$$

$$\Rightarrow I = \frac{1}{2} e^t (\cos t + \sin t) + k$$

$$3. \quad I = \int \frac{2x^{12} + 5x^9}{(x^5 + x^3 + 1)^3} dx$$

$$\Rightarrow I = \int \frac{2x^{12} + 5x^9}{x^{15} \left(1 + \frac{1}{x^2} + \frac{1}{x^5}\right)^3} dx$$

$$= \int \left( \frac{2x^{12}}{x^{15}} + \frac{5x^9}{x^{15}} \right) \frac{dx}{\left(1 + x^{-2} + x^{-5}\right)^3}$$

$$= \int \frac{2x^{-3} + 5x^{-6}}{\left(1 + x^{-2} + x^{-5}\right)^3} dx$$

Put  $1 + x^{-2} + x^{-5} = z$

$$\Rightarrow \left( \frac{-2}{x^3} - \frac{5}{x^6} \right) dx = dz$$

$$\Rightarrow (2x^{-3} + 5x^{-6}) dx = -dz$$

$$\Rightarrow I = \int \frac{-dz}{z^3} = (-) \frac{z^{-3+1}}{-3+1} + k$$

$$= \frac{1}{2z^2} + k = \frac{1}{2(1 + x^{-2} + x^{-5})^2} + k$$

$$\underline{4.} \quad I = \int \frac{\sin^2 x \cos^2 x \, dx}{(\sin^5 x + \cos^3 x \sin^2 x + \sin^3 x \cos^2 x + \cos^5 x)^2}$$

$$\Rightarrow I = \int \frac{\sin^2 x \cos^2 x \, dx}{\left[ \sin^3 x (\sin^2 x + \cos^2 x) + \cos^3 x (\sin^2 x + \cos^2 x) \right]^2}$$

$$= \int \frac{\sin^2 x \cos^2 x}{(\sin^3 x + \cos^3 x)^2} \, dx$$

$$= \int \frac{\frac{\sin^2 x \cos^2 x}{\cancel{\sin} \cos^6 x}}{\left( \frac{\sin^3 x + \cos^3 x}{\cos^3 x} \right)^2} \, dx$$

$$= \int \frac{\tan^2 x \sec^2 x \, dx}{(1 + \tan^3 x)^2}$$

Put  $1 + \tan^3 x = z$

$\Rightarrow 3 \tan^2 x \sec^2 x \, dx = dz$

$$\Rightarrow I = \frac{1}{3} \int \frac{dz}{z^2} = -\frac{1}{3z} + C$$

$$= C - \frac{1}{3(1 + \tan^3 x)}$$